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QUESTION 1

What does remote access use to verify identity?
A. MFA

B. Remote Access VPN

C. Agents

D. AMP for Endpoints

Correct Answer: D

QUESTION 2

In which two ways should companies modernize their security philosophies? (Choose two.)
A. Reinforce their threat-centric security tactics.

B. Decrease internal access and reporting

C. Expand their IT departments.

D. Rebuild their security portfolios with new solutions

E. Complement threat-centric tactics with trust-centric methods.

Correct Answer: AD

QUESTION 3

What is used to reduce attack surfaces?
A. Access

B. Remediation

C. Segmentation

D. Device trust

Correct Answer: B

QUESTION 4
Which are two reasons perimeter-based network security is no longer sufficient? (Choose two )

A. more vulnerabilities
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B. more IT professionals
C. more networks

D. more devices

E. more users

Correct Answer: AD

QUESTION 5

Which two aspects of Cisco solutions save customers money? (Choose two.)
A. fewer resources to manage

B. faster integration

C. replacing current infrastructure completely

D. 100% effectiveness

Correct Answer:. AB
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